T ISRATAT R P R EP R~ P R W
110 ##7i& A R B &2
Fla

FREAER D] - AlY T T A2 B
FAFB  FEHB 2
BRA AKX, 25 ¢ ]

ETF

AR

L EEATH e E L EEGIRBAG B0 T 2 B H M - £ A5 ~ SRy
REAE R ERG > oA FRESLBFEARAARE  FRAAR T -

2. AN AP L ARATHR A FR MBI FHERAR R -

JMEEF A

(DRAE ~ REMEXRR FENLELALBERA D ALAZL B EMTHLS EFHFMRL
EENGE —RAMBEL  ERFZME Ty > Rty BA% AR -

DBREEBEIX BABXARENRS > hEF o8B HETHELE  EREART
e e

(DB ELBRIBFRAE  FH 8 IR R EUNG R TR TARAEFETERE
# NI L ~ N8 fo E iR R A R B M 2 AT XF R R AR 0 i H AL s
F 0 RERARRA T Aoy o

4, KRB R B EEFLHE o KRG EHZAUE N -

b. RARRMEFEAMHA T FHES(RHAE s — x>+~ ~/ “MR-MC~ Mt~ M-
BHEDRE RBAEF B R TRIBDE - BERIANE) BRFHEAE
ERFE AR FREZEFHEBHENRDRMER > QB EM > 1
MEEAAE A E RS 105 ZEFHESRBERANBRE ZAH AR
B E




BEXME2 - EFE (X5 H)
AR DEH 100 5
XEBFIAN BRI AR

#HE—: [105]

4ol 1 A F B X V=18 VR =3kQ, Ro=6kQ, A Rs=3KkQ - K a, b dyskz it
% (Thevenin) ¥ TR Vi [3 51 #0 &M Ru[3 5] o3 a, b W4k £ — 1kQz A% R, -
K Remsm 2z ifsesh & P[4 4] -

o

e [15 5]

Yo E2P T E) I AR A RAAAAE) ) BERBK B RZ FBAKRE B ERAKR S

ZAWAFBHR = 9 KQ > 44y th FHLR, = 1 KO » Bl 246 T B3 35 Avo = 10 VIV » B P 4 243 5B
TR =6KQ > AR =3KQ o RITHZ I Bvovs [5 ] - T Rili [5 )
Fo 5l & 38 35 polpi (BPveio/viri) [S 4] -

A — e
- ] ;
, .+ |
. - L I _}-
Iv*l gR: <—Av”v”| 5
e | :
SRR (R —|
[ 2

BTR/®E 1 H




8= [102] .

o [8) 377 77 04 B #8 By 4k A — B2 AR SE KK B(OPAYA T R Z i 0 B #s o 3R — 1 KkQ > Ry —
SkQ > C=0.02pF » RbMoEHZ AR E [3 2) > kA% os [3 %) » LA Evi(0)
=0.01sin(10%) V= ¥ & & Bvo(0) [4 #]) -

C
4”_
Ry
o —NN—@
R,
O——AMA\—¢
Vi —0
v(}
[ 3

HEM: [104] .____

Yo 8 4 Ao A A B M E AR BOPA)HARZER - LV [S55) FV, [55]) -
BRI BB Z LB F V=2V Vh=-1V  Va=3V R =1kQ >R =2kQ> R3 =3 kQ >
Ri=6kQ > Rs=1kQ» Re=2kQ > R1=2KkQ » Rg=4KkQ o

Ry
AV

>o—o vV,

) 4

BTR/® 28



BEET: [10 2]

Yo B 5 PR 2 AR B % o

(VB3 8 S(a) 2 —ARBs ATRA 2 — 458 > V=6V Va=-6V > Ri=2kQHA R =1kQ - £
TRI(25) FEBR VI3 5]) %5 BiT?

(b)Y 5(b)z —ARA% FIE G R 2 0.7 Vo % Ve=5V B AR vi= 10 sin(2ns) V 85 »
Koy th R vo 20/ [2 ) g KA [3 5] o

R
D

% R V p) CI) i % o,
/ D R Vi - Vo

l | ’ TI VB
I o -

(a) (b)
[&] 5

#E/N: [1649] S

Yo ] 6 A7 2 3R A N i 4 B AL 55 208 S (MOSFET) A KB 8 - 8% O - O
=(3=0 R =Ra2=10 MQ » Rp=Rs=4kQ » MOSFET 1B 4 Ip=1 mA » B B4 M
2 gn=4 mA/V K ro=100kQ

(@) BINAZ IR vide X3 > B9 vo i V3l > Z 3 b o &9l & 3% Ry = 100 kQ#F » K
bR B ZMATAH R [3 2 » IAMH R [3 9] » A REREIH 4, [3 5] -

(b) AAZ IR vid Z 3% > By AZ 9% vo 48 V3 > X ol o A&k A 3% R, = 100 kQBF > K
AR BZWMABIR [35) » AREREE A [35] -

+ Vop
Ra Rp2 C,
—os ¥
X G
O—J C'3
—|—o2Zz
Re Ry
[& 6

BF¥2 /® 3 H



#wET: [109])

o[l 7 PR MEARMEE SBEBIT)ER » B3% Vee=3V > Ri=10kQ» R, = 1 kKQ » 5§ & 8 >
B=100> On§L Op ZAUEHEL » B Ver=0.7V » 4850 2 EE Vepsay =02V o
(@F V=13V KV [3n0)HfVol3n) ZEE-

(b)'ﬂ? Vi = -3V H# ’ ;12. Vo [4 ’}J\] :Z_fl;jﬁi 5
+ Vee

HE/\: [104]

ho (8] 8 Fror 2 B8 Ak N il i8 48 F b4 55208 & B (MOSFET) fr 48 iR 2 % 8% KB %
By th A3 9% vo = vo2 — o1 R 3% Rp= S kKQ R B B 1= 0.8 mA» [ Rss = oo» B 448 MOSFET
AR T RAMER LB gn=4mA/V B ro=50kQ -

(@) FEWMAMZ IR vidk var s M vee sk » R B2 IR 35 Aa (BF volvi) © [4 5]

(b) & vei=1+0.001sin(10*) V » vg2=1-0.001sin(10*) V 85 » K HEE vo o [4 5]

() Rob TRzt R, o [2 5]

BFR/EL4EH



_Eﬁgn; [104]

7 1

Yol 9 PR X Eg Ay — F &(Wien) BN AR B B > BB R=2kQ > C=1uF o KR E
AR H e ik 1 € 5g % A B Al (Barkhausen criterion) [4 2] » st 85 & A 3R H 0 > R/R
WL B AT (3 ) 2 IREBWIAFR S AT [3 2] ?

Ry
AW

& 9

WFB /5 H



